
Facil'O
Tps final 

avec 
pénalités Pénalités Réseau 1 Pénalités Labyrinthe Pénalités Tir 8 touches Réseau 2 Pénalités

1 PASSARD 0:58:52 0:38:31 0:02:06 0:01:01 0:17:14
2 BARBIER 0:59:02 0:10:00 0:31:17 0:10:00 0:02:33 0:01:04 0:14:08
3 AVVISATI. F 1:12:40 0:10:00 0:36:23 0:01:57 0:03:22 0:20:58 0:10:00
4 ESKOVA 1:18:32 0:49:07 0:02:47 0:04:37 0:22:01
5 AVVISATI. M 1:19:33 0:50:39 0:02:30 0:02:49 0:23:35
6 GASTINEAU. Z 1:19:41 0:46:47 0:04:20 0:03:34 0:25:00
7 LABIDOIRE 1:25:42 0:51:31 0:03:12 0:01:42 0:29:17
8 PAGNAULT 1:26:11 0:51:14 0:02:37 0:02:53 0:29:27
9 LE GUILLOU. R 1:26:48 0:51:09 0:02:18 0:01:20 0:32:01

10 ESKOV 1:34:51 0:10:00 0:47:05 0:10:00 0:02:52 0:03:53 0:31:01
11 JORGENSEN 1:41:41 1:01:30 0:03:30 0:03:56 0:32:45
12 GASTINEAU. C 1:41:46 1:01:36 0:04:22 0:06:58 0:28:50
13 DUTERAGE 1:45:04 1:01:10 0:04:42 0:06:12 0:33:00
14 MERIGUET 1:45:05 1:01:12 0:04:42 0:06:12 0:32:59
15 CASALINI 1:53:51 1:16:40 0:04:06 0:02:24 0:30:41
16 NICODEME 1:54:25 1:20:49 0:03:34 0:01:04 0:28:58
17 LE GOFF 1:59:37 0:40:00 0:49:23 0:03:08 0:40:00 0:03:28 0:23:38
18 DENIS 2:12:21 0:10:00 1:18:27 0:10:00 0:05:27 0:00:42 0:37:45
19 SVARICHEVSKI 2:18:02 0:25:00 1:09:14 0:15:00 0:04:10 0:10:00 0:08:06 0:31:32
20 VRAY-GUILLOT 2:21:39 1:00:00 1:11:31 0:05:35 0:01:51 0:02:42 1:00:00
21 AVVISATI. G 2:22:04 1:00:00 1:11:41 0:05:24 0:02:02 0:02:39 1:00:00


